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question carries ONE mark. There will be negative marking. Every wrong

uestions In this booklet. Against each question four altemative chuicas (A}, (B}, (C) and
¢ which only one s correct. Indicate your choice of answer by Darkening the

" sultable circle with Black/Blue Ball Pen In the OMR answer sheet supplied to you separately.

Who among the following is the first

[Euausujemmem‘m APTITUDE] 6.
1.  Mavimum Oxygen is avallable from Indlan woman mountaineer to reach
(A) Deseris _ the summit of Mount Everest?
(B) Green Forests (A) Premiata Agarwal
(D) Phiytoplanktons (C) Bachendri Pal

2. Which of the following is a renewable

[D] Tashi Malik

resource? LS Whuse army did A.Iexander the Greek
(A) Coal ruler confront on the hanks of the Hver
(B) Mineral Ol Jhelum?
(€) Naturil Gas (A) Chandragupta Maurya
(V)] Foresls (B) Ambl’
. {€)Dhanananda
3. | '_ h:of the fllowlng countries Is fast , ()-Borus-
moving towards a cashless economy? 8 InEMLFE stands fur
k (A) Denemark . (A] Eamned :
(B) Swedeii~ {BY Economies
(Cyiceling (C)Easy -
(O} Nghway (O} Eguated |
4. Wrich dountry rECGl‘ItI? detonated its 9, Who pidjiounded the - theory of
ﬂmt,hydtogen homb? *Econamic nrah;i*’of Ind‘ia' during British -
(A} South Korea Impeﬁahsm? _
(8) Nurth Korea . (A)- W. C. Bannerji-
(€) Pakistan (B) Dadabhai Naoroji
{D)Iran (C) Gopalkrishna Gokhale
5 (D) Gandhiiji

5. Which dty will host the 2022 Asian

40. The Election Cummlssluner can be

?ﬁ;;mﬂj:lla " removed by the

'(8)-Hangzhou (A) Chief Election Commissloner
{C)Sam. (B) Prime Minister
* (6} Osal .{C) President. on the fecommendation
R of the: (Ehlef Elecﬂnn Cammissioner

(D) Chief Justice of Indla
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11. Consider the

© SET-IY/ Geoup: Electrical, Electronks & Computer /2016

following  events 15, known  abo
connected with Indlan Natlonal Had 'Shg have zhre; l-onl:er R' she
Movement and find the correct (A) wnuld ' ;
chronological order of the events from {B) might
‘the mdes given below {C) may
i. Demise of 8. G. Tilak (D} should

If. Passing of Rowlatt Bill as an Act
il Jalianwala Bagh Massacre
iv. Amritsar Sesslon of Indian National

In each of the following quettions, a
sentence has been ghven in Direct/ indirect
Speech. Out of the four altematives

{A) Heasked histeatcher whethir there *

Co , 191§
: "Bfefi suggested select the .one which best
-wﬂ . - Wﬁemmemtmm in Indirect/
(A) i, T, b, i Direct Speech,
{B) tv, Ii1, ii.§ ] ,
'[C} i, v, 1, 1 17. The mn sakd, “God helps those who
i, help mselves.”
FHlb Rl {A} The Sage said that God he!ps those ':
o = ’ ‘ who help themselves. 1
= &Ltﬁ' HE = 13, Thon HEN" will b (B) The Sage said that God helped those I
(A) 22 who helped themselves ' c
: (C) The Ssge-said that God helps those . ‘U
:(B:; g * whohelped themselves @ ;:»f' ).
(D'}' 27 (D) The $3gé sdid that.God helped thus&“‘ x 3 pr g
R ~who he!pmemelm i T LY
1 A L 3 'L‘
'Jneﬂckq[m,faﬂowhnﬂum.san ,¢,= Ll
Idiomatic expression/ s proverb has been 1% “‘I "“‘:,"Em‘“‘"*‘”“‘"“"‘_ AU I
b7 ;i : ] a Ae- -

was 3 ised to féad that'chapter. gty
: . {B) He asked his teacher whetlier there - '
k ' ; < he needed to read this chapter: ' A
5 ﬁf'ie plessant dréa () He asked bis teacher I It was '\ FX
: necessary to read this chapter: 3 e
; (8] A bad didam " (D} He askd his.teacher if Hie .had to L
(€) An 'mpmﬂhb'ﬁ plan read that chapter.

(D) A foolish idea .

14, To splil the beans
‘(A) To reveal secret information
(B) To misbehave °

(C} To keep secrets - mltlﬂsement.
(D} To talkirrelevant (A Impede
' oo o {B} Jmpair
Fill In the blanks with suftable tense from the (C} impose
' alternatives in the following questions: (D) impe!
18 adequate - pre- 20. The uhlmﬁn treated thg emp!oyes
emptive action to avert this tragedy? to .2 lunch at an expensive
(A} Would you not be taking hotel. .
" {B) Would you have not taken (A) precious:
(C) Shall you not have Taken - {B) sur!'nptunus-‘
(D) Should you not have taken (C) thriving
(0} stupendaus

Fill in the bianks with. suftable words from
the alternatives In.the following questions:

19. # you drink too much, " it will
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ISTRY]
[thfﬁ:alloudn; has highest

which of

’ 4 ol iron
I A v Sﬂﬂ'm
f;f s moles of N2
0.1 mol atom of Ag

(0} 10” atoms of carbon

. 23. The oxidation number of osmlum in
.. OsO4ls
(A) +7
{8) ¥5
(C) +4
(D) +8

23. Anoxide of metal (M) has 40% by mass
of oxygen. If, the atomlc mass of M is
24, the emplﬂ:al formula of its oxide

will be?

(AY M;0
o/ B

€) MO
,oﬁ' (D) MO,

Which of the follewing 1o
smallﬂtrndiu:? ' = the

25 Wihikch of the followdiig eimnts show
~ 2 zero valency?
= ‘ (A) Pt
(B) Au
©s
_ (D) Ne

26. The atonilc numbers-of vanadium M,
chromium (Cr), inanganese {Mn) and
fron (Fe) are 23, 24, 25 and 26-

‘respectively. W'hich of these will show .

the highest Z""lunlzatl‘on enthalpy ?
(A) Fe'

{B) v

(C) Cr

(D} Mn

7. BC; molecule is planer whemas NCl; s
pyramidal because |
{A) 8-C1 bond_ is more pnlar than N-CI
bond

(B} N-Cl bond Is more covalent than B-Cl
bond

SET-illy Group: Elecirical, Electronlcs & Computer fl:-u 5

(C) Nitrogen atom is smaller than boron
atom

(D) B, has no lone pair of electrons
whereas NCi, has one lone pair of
electrons

28.  Which of the followlng has the highest
dipole moment?
(A) AsH,
(B) SbH,
{Q) PH,
(D} NH,

29. . The hybridization of carbon In 1,3-
butadiene is - '
(A} sp .
{8) sp’
(©) sp’
- (D) sp’and sp"

30. K A= tetracyanomethane; B= CO;;.Cs=
benzene; D= 1,3.-butadiene. The ratin
of o and x bonds will be Inthe urder
{A) A=B<C<D
(8} A=B<D<C
{C) A-'-B=C=D
{D) C<D<ASE

31 -Thefraquuwyufawmufﬁ_s_htlsu:
10 5% The 'wave. hilinbeF SSsocat

with thisitight is

. (A) 5107 1o .
{B} 4!10-.““_1 I' T
(€} 2% 167 m™® L LW
(®) axi0t et . i

32.. Anelectronjumps from 6 eneigy level -
to 3" energy level in H-atom; How
many lines’ helung 10 the visihle
region? ' :

A) 1
/)2
3

(0} zero

33. The otbital angular mnmenium for a d-
el’ecuun s :

-(A) J6| (hh!]
(8) VZ{h/2x)

() (tvam)
(D) zero

T

L ey

.- : I . | ’ ; h; _‘.-"'- v
Uy h 9 0 ) 1200 202)J)2J)Isdedeees e

:_!
&
¥ _,.: =
\
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34. The number of nodal planes In & p,

41. The moment of Inartla of a thin
s B :ﬁﬂ;‘l s uniform droutar disc about one of Its
. 8] 2 diameter Is J. The moment of Inertia
c) 3 :Ibw't n ﬂin!s f:ledrpendllcullr to the
) rcular surface and passing th hlts
) * (0) zera centeris ik
N (A) (@)
- 35.  Which of the following has maximum (8) A
$ number ‘of unpalred electrons (M no. (©) 12
of Fe = 267 {D} J /{z}lﬂ
- {A) Fe ~
n (8) Fe (l] 42. In the equation, pV=RT, V stands for
3 (€) Fe (i) - the volume of '
(D} Fe (V) (A} any amount of gas
3 ' (B} one gram of gas
N~ [PRYSICS] (C) one gram molecule of gas
36. A particle revolves around a drcular (D} one liter of gas
A path. The acceleration of the particla is -
: {A) along the circumference of the 43. Agashehnmuun Ideal gas at :
b cdrcle {A) very low pressure and thgl}
. (B} along the tangent temperature
B (C) along the radius ' (8) high pressure and low tempera
} D) zero , (C) high pressure and high tempera
. b" ;( (D) low pressure and low temperatum:_ 59
;’ A heavy and ultghthodvhamequal T
a D kinetic enengles. Which ons has a . 44, lesﬂ:apmssumufthemﬁq X
! 3 greater momentum? kinetic energy per unit volume 01’ thé. T
2 4 {A). Ught body. gaslhs i | TR
" 'fz} (8) heawbody, (A P2 AT
33 {C) both have equal momentum (8) p Y
Y 1 S ; (D) .information is insufficient (C) 3p/2 . rt
: - _ _ (D) 2p .‘r ’
Y (‘3 }m. Cream gets separated out of milk when - ' : _ AR
it1s chumed, itis due to 45. Angular momentum is |
Y m ! " (A) Gravitational force (A} scalar
| ﬂ.; (B) Centripetal force (B) an axial vector
™ U'} i (C} Centrifugal force (C) apolar vector
T (D) Frictional force (D) none of these
™
| 39. anqua. is analogous to force, and 46, Enemofele:trm;nztlc waves Is due
i« moment of Inertia is analogous to to thelr
5 (8) B momentum * ° (8) freqtf?ncv
(€) impulse () algctnc and magnetic field
[ (D) none of these (D} none of these ‘
7 . . the
- Is independent 47. Out of the {following phenomena,
~ 40. ::I:dm o mﬂm pend one which cannot be explained on the
N (A) location of axis of rotation basis F"f ""“f theoty is,
™ (8) distribution of mass oW P‘:f:ﬁf:it on
- (C) shape of body (B} Diffraction
N (D) mass of body (C} Photoelectric effer.:t
i (D) Interferance

SET-HY Group: Electrical, Electronics & Computer /2046
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" ﬁ'{pbpd!ﬁiatian )

4 9-

3 mnference
X-rayslsof .
" (A) yeloclty
g (6)’ ﬁ-equenCY
AQ dntensity g

Nudear  fusion requires X

temperature because .

(A} all nuclear reactions absorh heat

(B) particles cannot come ck_;:ser tinless
theyare moving rapidly " i

- (C) binding energy must be supplied

from an external source .
(D) mass deficit must be supplied

If the radiation from 2 radioactive

materal Is passed through a@n electric
field

(A} all the three kind of rays wlll be
deflected .-, . _

(B} only gamma nw is deﬂec‘ted

(C) only alpha“ and - beta vays are
- deflected

{D) only the alpha ray Is defiectad

[MATHEMATICS] |
The value of k, 0 that the aqmﬂon
2x'~'+kx —S5=0and 22235 ~g=
?A;ﬂﬂ? have one root In common Is
(B) —27/4 _
€) e S
(D) None of thé dbove.

i each term of an infinite 6. P.. i5 twice
the sum-of terms following it, then: the
commen ration of G, P. Is:

(A} 1/3

(B) 3

() 2

(D} None of the above.,

The sum of n terrns of the serles
f+¥+§+ﬂk '
(A} p(n+1}§2u+1)

6

g {B} ﬂ(_‘“‘ﬂ[zn"n

e AGZR-1)@n4T)
() 2D

{D} None of the above.

SET-{llf Group: Electrical, Electronics & COpuier jevin

54. General solution of the equation
tan54 = cot24 Is ‘

e B B

A A= b =
. S,
8) 4= 7 14
wliX ., X
Q4= 7 " 14
(D) None of the above.

55. ff eos x=-1/3 and x les in third
quadrant, then sin x/2 Is equal to

-2
(D) None of the above.

56. First negative term In the expanslogi

14+ x)72 (s - .
( 1m) A3
(A) 5™ term “ .ﬁ
(B) 6% term L
(C) 7™ term T '.i-_'-_
(D) Huneuftheabove L R T 1

. 87. | ta’n“i"e) ~ tan~? L%) Is equal to Eg ‘

8
= w A mis

(D) Nane of the abuve

58. _'Ihe area of a trlangle formed by co~
ordinate axes and a line Is & square
units and the length of hypotenuse is 5
units. Equation of the line is :
(A) 3x -4y =12
8] 3x+4y=12 -

(C) 3Ix+2y=6
{D} None of the above, .

and by +c=01I

(A) = 7

(B) 0°

© =

(D) None of the above.

59. Th:mglehetweenthennux a
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Y
.ﬁ{p“ ‘: 1{; :
+ 3ET 'ﬂvé:ﬁ‘bw.‘; Oegtitel Srargpiss - *r;;g.;:t;zm \iﬁ'a
I'L._ * +:. q‘t -Sf
S ' 60. The tangents to the m xz +y1 = L ﬂ, Tie vAha .: ‘*'};.E} ;fi,‘:ﬁ’ii :
] * 169 at the polats {5, 12) and (12, -5) \ " &L .
i . are. : A %
2 (A) parallel }, :
. (B) perpendicular . Capy .
(C) coincident o o v, S
- (D) None of the above. 6B iy w7 v F.;i‘w P
o e 1,1 ” W s S L ; .
61. The equatioh of directrix of parabola sl @ T
- 2 +4y+4x+2=0k '
- = Al x=-1 - | | (A} v:
B) x=1 - | Ua :z
Q x="3/2 ED] e—-1L
(DY x =3/2.
7ol | kEx"l' COSX,X <0, 69. J-Eﬂcse deé - '.-.'Esi':;; s4a ‘
6, 1, oI
62. # flx)= :1-\’_1—:) - s (A) s(secBtan. - & .-
- “ 4( = ,::DI of | tan ) +¢
) = value _ )
;n;ﬂnum wx=0 M L (B) secf tanf + log 15029 =
((3 31 ¢ " : ;tanﬁl_) +c
(D) Noneof the above. I (D) Nene.of the above.
- g -1 = - 70. If .the roots nftheeqUE-"_ E
The value of 2;(cos (mx)) if.en.u!! : o2 +lc-a)x+(a-b)= "
to ;3 .+ equal,thena,bandcarein
| ' | Ao . B (A) AP. :
R : (8} G.P. -
© 3 | . (C) HP. -
(D) None of the above.. (D) None of these. |
If e* + €¥ = €7, thea a2l [ELECTRICAL, ELECTRONICS & COMPUTER,
A) 2 - o
{(3} 1 71. A system program that :umhine? the
‘ . separately complled modules of a
9 ';tlc.}ne of the above. program i:_itn a form suftable for
) ’ : execution ' a
' added to its (A) Assembler.
real number X when | SSelr
- :::eue gives the minimurm value of the (8) Uinking luad_er. _
| atxequalto (C) Cross compiler
?:Tl L ' (D) Load and go:.—...
8- ) . T Mnnmofdhwh:wocfﬁ‘:: :
(9 -2 are logically runnable -
(D) i ’ a(-l i tempomﬂi? suspen::d‘ i::lnﬁl
' normal to- the axve x A) Preerhptive schedu
86 :l:.:a)'y = ﬂ-Sina Itlpoht ﬂﬂh\'iﬁ ll'B} 'Nun preempﬂ\fe sd‘edu“ng
passes through the fixed point (C) Shortest job first
(4} (a.0) | (D) First come first served
®) 03 - - - -

imn feomd
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73. Which Df‘l’i[ﬂ foliawing functions Is{are)

performed by the loader
. {A) Allocate space Iin memory for the

programs and resolve symbolic

" references batween object decks
[BJ' Adjust all address dEpendent
Kcations, such as  address

constants, to correspond to the -

. allocated space. :
(C) Physically place the machine
Instructions and data inta memory,
(D} All of the above _ :

. '74.  The register or main merﬁur\r location

78.

which contalns the effective address of
the operand Is known as

(A) Pointer '

(B) lndexey:l register

(C) Special location

{D} Scratch pad

- Fragmentation of the file

Dccurs'qnly‘{f the file system i used

compaction ‘
{D) Is characteristic of af file systems

{A) Alogicalerrorin a program

{B) A difficule syntax errorin a program
- Documefiting "programs using an
.. ‘effident documentation toof .

(D) All of the above .

An algorithm is best described as

(A) Acomputer language

{B) A step by step procedure for solving
a problem .

(C) Abranch of mathematics

(D} All of the above

The process of transferring data
Intended for a peripheral device into &
dick (or intermediate store).so that it
can be transferred to peripheral at a
more convenient time or in buik, Is
lénown‘as‘ _

(AY Multiprogramming

(B) Spooling

{C) Caching

(D} Virtual prograrmming

L B ]

wray q.uuup--l.mt.unuq, trergonics X fambuter /ZEIE

72, The CPU, after recelving
from an iyo device

~ {A) Hatts fora predeterminag time
Hands aver control of address pys

an Interrupt

and data bus to the Interrupting |

. device

A€} Branches off to the interrupt service
noutine Immed lately

D) Branches off 1o the interrupt service
routine after completion of the
Current instruction

What i the name of the technique In

operating system of a

computer axecytes several programs
Concumrently by switching back and
- forth between them?
(A) Partitioning
(B) Multitasking
(C) Windowing e
(0) Paging .
/ : 1 higs
8L Which of the following®is useq F?r-,ﬂ'é-
;:;Jduhﬂon and demodulation? .,'::i' '4:3.-".“
Modem B
(6) Protocols - B
(©) Gateway bt
{0) Mutcplexer Rt
5.6307
82. The term ‘duplex’ refers to the abllity w‘;;-rz
O the-data:recelvingstations to acho BEE
odk & confiing mescage to she | 7.
sender: In fun duplex  dats i:‘sﬁ:
~TAINIission, bath the sendér and the &‘ig.r‘ -
recelver 3 4 %

(A) Cannat-talk atonce
(8) Can recéive and
_ Simuitaneousty :
(C) Can send or receive data one at a
time )
(D) Ca; do one way data transmission
on -

send dat

83. A lllm‘ibl-lted network .configuration in

“which all  datafinformation pass
through a-central computer is

(A) Busnetwork - .

'(B) Star network

{C) Ringnetwork”

(D) Polnt-to-polint network

P IS =<9-.—349'@-‘3-99999999909-.-n-o__-@-'-*‘"ﬁ

R - T I
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SET-HY/ Growe. SR e e

- " FOUR: Electrical, Electronics & Computer /2016
{A} One o morn 30 .

35 a co ; mnduc.t“rs that serve 0 which code the successive

: mmon cﬂnneniqn for- a ﬂ'll'l'lcter; differ | Code
B related group of devices Pasition? "oony ene bi
(B} : continuous frequency capale aF (A) Gray code

eing mucfulated or Impressed with (B) Excess 3 code

- 3 second signal {C). 8421 code
{C) The condition when twe or more (D) Algebralc code

sections attempt to use the same

91. Whih ~
o diannelatthesameumE tra '::tp“thfde\rke B used for
" D) A collection of Interconnected computer Into pictortal n fom
. _ :;nctional units that Provides a data (A} Mouse PR
. Mmunications . service among {B) Plotter
-‘ stations attached to the network v'EC} Touch panel
' " ; v D) Card punch
| 85. Any type of stora
. holding infammﬂoiehme:“;d for 92 ASCl stands for
| " s pracessingls - . (A) fm?-ﬂ’-'a'} imm code for
{A} CPiy nfarmation inte nge
{B; Primary storage (B} All purpase - scientific code for
{C) Intérlhéﬂliie‘itora __ Information interchange i
(O} Intemal storage (€) Armerican.  securiy code for ; 2
R e - Information interchange -~ - .2
¢ G ' D} American  Scientific ‘code for © L1
- The section of the CPU- that selects, Information Interchange i
Interprets and sees to the execution of - T b
m’“"‘-‘-"“ﬂ"’“’* . | 93. Acoiipllermeans . - LT3,
16} Re?;?uﬁ& | (A)A. person who coriplles source . 7.
¥91. negisterur programs , : ©
[C] Control unit (B} Thesame thing as a programmer
(0) ALU {C)’ Keypuinch operator |
§ .k (D) A program whith translates source
An ondine commerdal site such as . prograrinto object program
Amazon.com is an example of a{n) ' S . u ‘
N {A) Single-user database application o :rn:essingl IJBHMMS :lisbtﬁh ,’_,_ﬁt:: d:;: '
. (B} Multiuser database applicatmn. worketutlon s s etk SHyaE.
_ (C} E-commerce database application (A} Network.
. (D) Data mining database application (B). Relational
" Py ‘ ' (C)' Client Server
) = ?fllrsst?i:nctur:; QueryLanguige U,
’ - 95. An OR gate can be imagined as -
. (8) . Sequentlal Query Language o .
. (D) Sequential QuestionLanguage (B} Swirchies connectedn parelel
. o (C) MOS transistors connected in series
N 89, The functional difference between SR wfl A pf?heam
" fiip-fiop and JK fllp-flop Is that o b 2 ok
: (A} JK flip-flop Is faster than SR flip-flop 9. &M;’E?ﬂ:im“', to"“:ﬁb::; HAXR
(8) JX flip-flop has a feedback path i C . f L
b : {C) K flip-flop accepts both Inputs 1 . (A) ;.ND L
(D) )X flip-flop does 'not requwe (8) YAND LB -
| L extgmai clock ' | (C} XOR . | : | _y _‘ :
b . _ ' - (DY OR - 2 g
o e 3 it | ' 10 : 2
2
h._; ' =

- R
b e g b wh W m—
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97, Fﬂp—ﬂap oﬁtputs are always
(A) Complimentary

. (B)-Thesame -
ffC} Independent of each other

(D) Same as inputs

98. Digital design often starts py
' constructinga ____ table,

(A) Standard

(B} Two-stage

(C) Truth

(D) Two-dimenslonal

99. A diagram that Hlustrates the logic of
functions in a programis called
(B).Sequence of steps .-
(C) Direction of flow
(D) All of the above

» The time requiced for a Ise
decrease from 99 tq 10 pen:ap:t of Itt:
mMaximum valye js known as .

(A) Rise time -

{B) Decay time

() Binary leve trahsition perioq
(D) ‘Praipagatich delay

T ew many. iputs sigials can a gate
| have?-
{- wonm
{8) Maretharione
(D):Bath(A) and {8

102. |
used when itis desired to send data
from two 6 more source through a
sl,_;'jil_i'nﬁinsmlsilun"llqie,'h:knm as

(A) Encoder '

(8) Decoder

(C) Multiplexer

(D) Demultiplexer

103. Abusisagroupof . carrying digital
~ signals.
(A) Wires.
{8} Gates
(C) Transistors
(D) Reglisters

o

T e sicLuicay, giecironics & Computer /. 20_1 6 \
104. Which of the following flip-flops Is free : ‘
from race arpund problem? ... A
(A) T Tip-fiop E
(B) s flip-flop {
€) Master slave Jx flip-flop |
(0} All of the above
105. How MIny memory locatlons can 14
address bits gecess? '
(A} 16,384
(8) 8,197
(€) 4096
(D) 14 :
106. The maximym number of TTL loads that
A TTL device can drive reliably aver the
Spedfied temperatyre range {s
{A) Fanout
(B} Bipolar
Lcp |
(D) Universal loglc circult : SOk
107. In an- Intrinsle semiconductor, th:’i{"‘
number of free electrons "{* {; !
(A) Equals the numiber of hales -y
(8) Isless than the nutnber of holes - :i' X5
(o) I greater than the rivimberofholes -3 Ty -
(D) Imposiible tosay i
; : vy VE,,
108, The total impedancé of s’ paraliel RLc v
dreuit: *~ < *- LE o
(a) -Always Ifcreases a5 the dpplied i i
| Metuencycreages. U - oy
(8) I equal o the sut o the vaumssr .75
resistance, Ifiductive: reactinee gy - oo .
tapacitive reactanice c
(©) Always decreases as the applisd - -
~ frequencyincreases :
) ls maximum at. the resofiant
frequency. :
109. For a pure capaditor: f
(A) Ac current and voltage are exactly ‘
In phase
() Ac currént leads the voltage by 90 ]
degree 5 g E
(€} Ac current Ts- coniverted to dc ’
voltage . 4
- (D) Ac ctirrent lhgs'thq.wltﬁg_e' by 90 ¢
degree ;
110. Waveforms are grafifis that shaw: © ’
(A} Fréquency oh the vertical -axis and
amplitude on the horizontal axis - ’
11 N
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{B} Amplitude on the vertical axis and 11!'- What Is the phase shift between total

" frequency on the horizontal axis
Ic} Amplitude on the vertical axis and
. the passage of time on-. the
horizontal axis
(D) The passage of time on the vertical
axis -and amplitude on the
horizontal axis

31L A transformer has w primary voltage of

120 V rms and 3 secondary voltage of
25 \ rms. If the secondary current Is 1A
rms, what Is the primary current?

{A) 7.8ma

(B) 208 ma

(C) 200 ma

(D) 300 ma

112. Which one of the following phrases

most accurately describes 2 purely

inductive clrcuit?

(A) Resistances provide the only
oppositionto current flow

(B} Inductive reactance provides the

~ ohly opposition to current flow

{C) Combinations of resistance -and
{hduitive reactance provide any

oppaosition to current flow

. (D) The a¢ voltage lags the current by |

90 degree

113 The knée voitage of a diode Is

~ _approximately equal to the
(A) Applied voltage

(8) Barrier potential

(C) Breakdown voitage

(D} Forward voitage -

114. Which one of the following statements '

is true for the voltages in a serles RC

crcult? :

(A) The total voltage Is equal to the
sum of the voltages across the
resistance and capacitance

(8) The voltage always has the same
amplitude and phase for every part
of the circuit

(C) The total voltage Is less than the
sum of the voltages across the
resistance and capacitance

(D) The total voltage is greater than the -

sum of the voltages- across the
resistance and capacitance

current and voltage In the crcuit of @
100 ohm resistor connected in parallel
with & capacitor that has a reactance of

' 100 ohm

(A)- 180 degree
(B) 30 degree
(C) 45 degree
(D) 75 degree

in which of the following are
operational amplifiers (op-amps) used?
(A) Oscillators

(B) Fllters
C) Instrumentation circuits

(D) All of thie above

What Is the level of the wvoltage

. between the input terminals of an op-

amp?
(A} Virtually zero
(8) 5V

- (C) 18V |
- (DO} {jpn,e_'-o_f,the.Above

118. ‘Thé raximum rate of change of the
‘outpat voltage Tn response to 3 step
 Inputvoltagélsthe of an op-

amps

(A} Time constant

(8) Maximum frequency
{C} Slew rate

(D) ‘Static discharge

The - output voltage’ of 2 typical
thermocouple is ~

(A} Less than 100 mv

(8) Greaterthan1V,

. {€) Thermocouples vary resistance, ﬁnt

voltage.
(D) Nane of the above

-tn A/D convertor, the change in ﬁlue

of an anmalog signal during the

~ conversion process produces what is
. calledthe :
‘(A): Quantization error

(8) Resoluticn error
(C) Nyquist error
(0} Sampling error

12
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I I following perlfonnance
12 :V:cklgﬂzia:;ﬂappﬂes to a S-Ir:"lple-ﬂnd-
hgld clreuit?
(A) Aperture time
(B) Aperture droop
(C) Feedchk )
(D) Acquisition Jitter

-

122, A certain current source has the values k=
4 pa and R = 1.2 M ohm. The vaues for
an equivalent voltage source are
(A) 4.8 pv, 1.2 M ohm .
(8) 1V,1.2Mohm .

(C) 4.8V, 4.8 M ohm
(D) 4.8V, 1.2 M ohm

123. In 2 two-source circult, one source acting

alone produces 12 ma through a given

branch. The other source acting alone
produces 10 ma In the opposits direction
through the same branch. The actual
current through the branch Is o
(A) 22 ma '

(8) 12ma

(C) 10ma ;

(D) 2ma ' :

A 470 ohm R, Is connected acigss a
voltage source, V;, of 120 V. The
source's internal resistance, R;, Js 12
ohm. What s the output voltage s TQss
the load? A
(A) 120V

By ov

(C) .117v

(D) 12v

; .

125. In order to get maximum. power -

transfer from a capacltive source, the

load must '

(A) Have a capacitive reactance equal
to circuit resistance '

(B} Have -an impedance that is the
complex conjugate of the Source
impedance ,

(C) Be a5 capacitive as it is Inductive

(D) None of the above '

126, The Norton equivalent curréntis

" {A) The current through the load
(8) The open-current from the source
(C) The short circuit current
(D} None of the above

SET-lll/ Group: Electrical, Electronics & Computer /2016

31 A single phase energy, mieterhas-the : “;
‘fating 1200 revolutions/ kwh. It -4 500 ey

*

127. Increasing the number of turns of wire

on the secondary of a transformer will
{A} Increase the secondary current _ |
{B) Decrease the secondary current &
{C) Have no effect on the secondary

‘current '
(D) Increase the primary current

W the primary power of an Ideal -
transformer having a 2:1 volitage ratlo

Is 100 W, the secondary power Is

(A) 100 W

(8) s5o0w -

Q) 75w . .
(D) 200w |

An ammeter of 0-25 A range has l
guaranteed accuracy of 1% of full scale
reading. The current measured Is 5 A.

The limiting error is yorre
{B) 0.2% ' < E
(C) 2.5% 5.

* (D) 5% | L

| . 7 W
In 2 CRO which of the following is nota =, *
part of electron gun R
{A) Gathoge - . T v
{B) Grid + : i LY
(C) Accelerating aiode . L el
©) X~ st g

A

W electric gadget s used for-4 haurs, * :
the energy meter will make T
(A) 1200 revolutions

{B) 1800 revolutions : ,
(C} 2100 revolutions o ’
{D} 2400 revolutions

A moving coll - iistriment has- a

" resistance of 0.6 Q and ‘full scale

deflection at 0.1 A. To conveit ft Into p
an ammeter of 0-15 A range, the
resistance of shunt should be - . g
(A) 0.60 * y * |
(8) .06 - - W v
{c) 0.10 ;7 ¢ ;
(D) 0.004 0 :
!
(l
F
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13;.. An WNOT 5 used to measure
displacement. The VDT feeds a
Voltmaeter of 0-5 V range through a 250
galn amplifier. For a displacement 0.5
. mm the output of VDT {s 2 mwv. The
sensitivity of Instrument ts
A) 0.3V mm
- B) 0.5V/mm
1) 1V/mm
(D} 5V/mm 1

134. The household energy meterts
{A) \ndicating instrument
(B} Recording instrument
(C) integrating instrument
(D} None of the above

135. Potentiometer method of dc voltage
" measurement Is more atcurate than

© (B) ttloads ;the-ﬁimui'i:mde.' oderately
{€) 1tdoes notload ﬂjgdrqqlg:atall _
- D} R uses centre 6rb goWanometer

feee,  ditect measurement using a voltmeter

Ih because . L ‘.
a, (AY 1t loads the dreult to maximum
0 extent - :
O

¥

Instead of Voltmeters

s e

{

L.
-

P N

{SPECLY]

Which.-of the Tollowing: are fiecded
both for protection and inétesi ting?

(A} Wattmeters

(B} nstrument transfarmers

{C) Energy meters .
. (D} Power factor meters

137. A  voltmeter
measures
" {A) Rms value
(B) Peakvalle.
{C) Average valye

using  thermocouples

SET-11l/ Group: Electrical, Electronics & Computer /2016

139. The resistance of a 125 Q strain gauge

changes by 1 ohm for 4000 micro.
straln. The gauge factor Is-.

(A} 15

B2

{C) 25

o3

140. Which of these has & magnetic brake?
(A) Thermocouple ammeter
(B} Energy meter |
{C} Dynamométer wattmeter
. (O} Frequency meter

141. In a digital medsuring device the input
electrical' signal Is In the Ifr'equmt_:f
range of de to ac {S0) Hz..it must be
sampled at a rate of
(A) Ftimes/sec
{8} 0.5 f times/sec

(€} 0.25 § times/sac
{D) 2 f times/sec:

142. When a capacitor is cotinected 1o the,
terminals of an chmmeter, the pointer
'ndicated 2 low resistance initially apd
finally come to. infintty PosiIoh. Thls
shows that capaicitors. -'

(A} Short circulted:
(B) All right .

(C) Faulty

(D) Open dircuited

143, A capacitance transd
ta measure
(A} Thickness of sheet
{B) Displacement
(€} Level of fluids
(D) All of the above

ucer can be used -

| 144. The current through the coll
l,n} Peak to peak value electromagnet Is * doubled mT;:
. . | magnetic fleld aroun no k
13s, Ke'lﬂns double hﬂﬂgg_ I wed to - (A} Is halved "uund Sl a
measure low reslstances because (B) 1s doubleg
(A} 1t has high sensitivity (C) Becomes four ¢
(B} Theiais na thermoalectric emf. {D} Remain l?ur g
€ Resistance vatiatlon  dug 4o ¥ gk
temperature 145. The wave’ ap
| _ , plied tq x
OV Eflect of conpg  gag lead “htal“‘"“m“""“f“ﬂltaﬂe ﬁplatu' o
reslstancess eliminated- < 1A) Sawtoath wave els
) : 'EB} Slnusnidalwaue
C} Rectanguty, w
10} ave

~/ Tone of the abaya
14 ‘

Cay

CIRCIC NS

'

&

COCCCECCE®daC @ @ q-
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150. The ability gf 4 mateial

149, In measurements using L

CRO, Ussajous

145, if shunt of 200
With 2 galvanometer

Q resistance is used

of 1000 n

nce, the multin '
)6 H_multiplvlfcpawul

(B) Maxwell Wien b
(C) Hay's bridge P
(D} None of the aboye

- The 10 mhz in the spedﬂi:aﬂon ni; CRO

means that
(A} The sweep frequency |

s 10 mhz

{B) The frequency of '
quency of Input
" not be more than 13 m:isnal;s_hnuld
) The vertical amplifier has been.

desigried for 10 mpy |
(D) None of the abgye

Pattemnsare usedty
(A} Mézsure magnituge of
(B) Measure frequeric,
(C) Measure Impedance .
(D)- Medsure iFreny

e

magnetized after

peak voitage

o

o Femain

removal of e

magnetizlrig force is khoyn g

[A} Pennizabmt?
(B} Reluctahce
(C) Hysteresis
{D} Retentivity

o -
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